SkbrV BK

DM-lag IAF match 3 2013-03-09

IMP o6ver faltet, 8 bord, 16 par. Antal brickor: 12.

Plac Par Poang Namn MID Klubb
1 14 1.40 Nils Séderberg - Tommy Jeppsson 12409 6314 Hoo6rs BK
2 7 1.37 Fredrik Jarlvik - Jan Becklén 4451 20525 Malmé BK
2 10 1.37 Bengt Emanuelsson - Anders Freij 4620 5548 LUCK
4 3 1.10 Martin Johnsson - Jérgen Andersson 13345 22136  Landskrona BK
5 12 0.94 Christian Leo - Peter Akesson 577 545 Landskrona BK
6 1 0.74 Jan Gutenwik - Hakan Tjarnemo 6302 5534 LUCK
7 8 0.50 Jan Nilsson - UIf Bogren 4501 486 Ho66rs BK
8 5 0.01 Fredrik Wickstrom - Bert Jehpsson 4496 5541 Ho66rs BK
9 13 -0.01 Jan-Ake Ohlsson - Leif-Ake Nilsson 5957 11788  Ystads BS
10 16 -0.50 Johan Bennet - Anders Wirgren 93 4731 Malmo BK
11 9 -0.74 Rolf Bengtsson - Andreas Kényves 4614 4590 BK Lavec - LUCK
12 4 -0.94 Borje Dahlberg - Mats Pettersson 4744 5587 Malmé BK - BK Lavec
13 11 -1.10 Bjorn Sanzén - Leif Olsson 5900 5891 BK Lavec
14 2 -1.37 Bengt Palsson - Perry Sjoberg 6272 5775 Malmd BK
14 15 -1.37 Simon Nilsson - Viktor Andréasson 85753 89902 HO0rs BK
16 6 -1.40 Niklas Andrén - Torsten Eriksson 1623 493 Ystads BS
1 4« Kn4 Bésta kontrakt 2 498 Bésta kontrakt 3 & EK5 Bésta kontrakt
Nord v 10653 44 N D -1-100 Ost vED43 5¢v S =650 Syd v K86 ANT S =430
Ingen ¢ 542 NS 462 ov + 105
#E842 & ¢ v & NT #E10954 & ¢ v & NT #KDKn62 & ¢ v & NT
4D72 4K985 N9 4557 4 DKn106 # K54 N 1010119 10 4 D8 410943 N 106 9 9 10
vK942 vDKn7 S 94557 v9 v K10765 S 1010119 10 v53 v EKn97 S 106 9 9 10
¢ E107 ¢ KKn983 049886 49873 ¢+ D54 023243 ¢ E98742 ¢ KKn 037 343
#1096 «D V49886 &#DKn32 #76 V23243 #1095 843 V37343
4 E1063 4 E732 4 Kn762
vE8 v Kn82 vD1042
+ D6 + EKKn10 + D63
#KKn753 »K8 »E7
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
6 14 INV-4 &4 200 370 -370|1 9 3NS+1 4Q 630 270 -270|1 9 3NS+1 ¢3 430 30.0 -30.0
1 9 3&N= vJ 110 20.0 -20.0(3 11 3NS+1 +9 630 27.0 -27.0(5 13 3NN+1 T 430 30.0 -30.0
7 15 34 S= «6 110 20.0 -20.0(5 13 3NS+1 v9 630 27.0 -270(3 11 3NN= 44 400 25.0 -25.0
5 13 4¢ O-1 *2 50 70 -7.0|7 15 3NN+1 «2 630 27.0 -27.0|7 15 3NN= 44 400 25.0 -25.0
3 11 3#S-1 *6 -50 -120 12.0|4 12 3NS= «Q 600 21.0 -21.0(8 16 3NN= 42 400 25.0 -25.0
8 16 2¢ V= 2 -90 -20.0 20.0|8 16 3NS= +9 600 21.0 -21.0(2 10 2NN= a4 120 -25.0 25.0
2 10 2v V= ] -110 -26.0 26.0(6 14 3NS-1 Lye) -100 -69.0 69.0(4 12 4v S-1 4Q -50 -55.0 55.0
4 12 3¢ O= 3 -110 -26.0 26.0|2 10 3NS-2 4Q -200 -81.0 81.0|6 14 4vy N-1 +K -50 -55.0 55.0
4 4 E732 Bésta kontrakt 5 4962 Bésta kontrakt 6 & K62 Bésta kontrakt
Vast v 98 44 N =620 Nord v DKn8532 44 O =-130 Ost v K98 6NT S =990
Alla +92 NS ¢ 763 ov + KD74
#EKKn108 & ¢ v & NT &E & ¢ v & NT #E93 & ¢ v & NT
4854 &D6 N9 7 10109 D83 410754 N3 3844 & E9854 410 N 118 9 1012
vK75 ©vE62 S 9 7 10109 v 106 vE S 33844 vKn10542 vD6 S 118 9 1012
+ K863 ¢ D754 046 333 ¢ EKn109 ¢ D52 O 108 5 8 5 +3 ¢Kn1098652 O 1 5 4 3 1
%753  #D942 V46333 #DKn102 #K6543 V 108 5 8 5 #65 «Kn104 V15431
4 KKn109 & EKKn 4 DKn73
v DKn1043 v K974 vE73
¢ EKn10 + K84 +E
»6 987 #KD872
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
4 12 3NS+2 48 660 17.0 -17.0|1 9 3v S= v6 140 410 -41.0(1 9 6NN= 43 990 68.0 -68.0
2 10 44 N+1 +5 650 170 -170(4 12 2v S= «Q 110 330 -330|3 11 64 S= 6 920 59.0 -59.0
7 15 44 N+1 +6 650 17.0 -17.0|2 10 4y N-1 a5 -100 -5.0 5.0(2 10 3NN +3 ¢J 490 -19.0 19.0
1 9 44 N= ¢5 620 90 -9.0(3 11 4vyN-1 a5 -100 -5.0 5.0|4 12 3NN+3 ¢J 490 -19.0 19.0
3 11 44 N= +5 620 90 -9.0|6 14 3v N-1 45 -100 -5.0 5.0|5 13 3NN +3 +J 490 -19.0 19.0
5 13 44 N= +5 620 90 -9.0(8 16 3vy N-1 a5 -100 -5.0 5.0(6 14 3NN +3 ¢J 490 -19.0 19.0
8 16 44 N= ¢5 620 9.0 -9.0|5 13 4vS-2 *Q -200 -27.0 27.0|8 16 3NN+3 4J 490 -19.0 19.0
6 14 44 S-1 +6 -100 -87.0 87.0(7 15 4v S-2 *0Q -200 -27.0 27.0(7 15 54 S+1 +3 420 -32.0 320
7 aKn Basta kontrakt 8 432 Basta kontrakt 9 4« Kn104 Basta kontrakt
Syd vD732 54 V =-650 Vast v K8532 24 N =90 Nord v 987 34 O =-140
Alla + Kn64 Ingen 452 ov 4962
#KDKn64 & ¢ v & NT #E1092 & ¢ v & NT #K982 & ¢ v & NT
46 4E10975432 N7 1 8 2 6 484 4 E9765 N8 6 766 49752 4 EKD6 N58 444
vEK85 v- S71825 vE76 vKn1094 S 8676 6 vDKn632 v105 S58 444
+872 ¢+ EKD103 O 6 114 117 ¢ K1093 ¢ D64 047676 ¢4 ¢+ KD3 085996
#109753 #- vV 6 114 117 #KD85 &7 V47¢67°F¢6 *E65 «D743 V85996
4« KD8 4« KDKn10 483
v Kn10964 vD v EK4
+95 + EKn87 + EKn10875
*E82 #Kn643 #Knl10
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
3 11 64aDO-1 &A 200 82.0 -820(6 14 2v O-3 K 150 240 -240(5 13 2NOQO-2 ¢J 200 36.0 -36.0
6 14 64aDO-1 &A 200 82.0 -82.0(7 15 INS+1 48 120 18.0 -18.0|1 9 44 0O-1 vA 100 15.0 -15.0
5 13 44 O +1 *A -650 -8.0 8.0|8 16 INS+1 48 120 18.0 -18.0|2 10 3v V-1 +2 100 15.0 -15.0
7 15 44 O+1 v4 -650 -8.0 8.0(2 10 2v N= «7 110 16.0 -16.0|6 14 44 O-1 vA 100 15.0 -15.0
8 16 44 O+1 *A -650 -8.0 8.0(5 13 2vO-1 vQ 50 30 -3.0(7 15 44 0O-1 43 100 15.0 -15.0
2 10 54DO= #A -850 -39.0 39.0(3 11 24 S-1 +9 -50 -18.0 18.0|3 11 34 O= vA -140 -32.0 32.0
4 12 54D O = #A -850 -39.0 39.0|4 12 2y N-1 *7 -50 -18.0 18.0|4 12 3v V= 2 -140 -32.0 32.0
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1 9 44DO+1 ¥J 990 -62.0 62.0(1 9 INDO= a3 -180 -43.0 43.0(8 16 2v V+1 a] -140 -32.0 32.0
10 #7653 Basta kontrakt 11 « D1082 Basta kontrakt 12 & Kn96 Basta kontrakt
Ost v K7642 ANT O =-630 Syd v EKn8543 44 S =420 Vast v 1095 2NTV =-120
Alla + K953 Ingen ¢ 643 NS + ED97
»- & ¢ v & NT »- & ¢ v & NT &E95 & ¢ v & NT
4 E1084 « DKn9 N2 3623 476 & E43 N6 9 9 109 sE4 & KD2 N5 4565
v3 v D1095 S23633 vK1092 v76 S6 9 9 109 v Kn7 v KD62 S54565
¢ EDKNn106 +4 O 119 7 1010 ¢ K852 +Knl0 O7 3 434 ¢ KKn842 41063 08976 8
&E87 &#KDKn102 V 119 7 1010 &#Kn65 #KD8742 V74434 &#DKn76 #K104 V 8 9 86 8
& K2 & KKn95 4108753
v EKn8 vD v E843
+ 872 + ED97 +5
#96543 #E1093 #3832
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
8 16 64 0O-2 vyA 200 91.0 -91.0|2 10 44 N+1 +5 450 40.0 -40.0|7 15 3NO-2 a3 100 27.0 -27.0
1 9 3NO= *2 -600 -7.0 70|14 12 44 S+1 +5 450 40.0 -400|1 9 3NO-1 a3 50 13.0 -13.0
3 11 3NO= *7 -600 -7.0 7.0|6 14 44 N+1 ¢J 450 40.0 -40.0|2 10 3NV-1 a] 50 13.0 -13.0
7 15 3NV= v2 -600 -7.0 7.0(7 15 44 S+1 +5 450 40.0 -40.0|3 11 2NV-1 46 50 13.0 -13.0
4 12 3NV +1 v2 -630 -14.0 14.0(8 16 2v N+1 *J 140 -13.0 13.0|4 12 3NO-1 a3 50 13.0 -13.0
6 14 3NO+1 &3 -630 -14.0 140(1 9 3NS-1 &5 -50 -49.0 49.0|5 13 3NO-1 a5 50 13.0 -13.0
2 10 3NV +2 +5 -660 -21.0 21.0(3 11 3NS-1 &5 -50 -49.0 49.0|8 16 INO+2 a5 -150 -25.0 25.0
5 13 3NV +2 +3 -660 -21.0 21.0(5 13 4vy N-1 *Q -50 -49.0 49.0|6 14 3NO= a3 -400 -67.0 67.0
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